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L General English 1

Directions—Q. 76 to 79) : In the
following questions, sentences are given
with blanks to be filled in with an
appropriate word(s). Four alternatives are
suggested for each question. Choose the
correct alternative out of the four as your
ANSwWer.

76. Your.........nature will aid you in
attaining success in every venture
you undertake.

(A) rotund (B) persevering
(C) lackadaisical
(D) catalytic

77. This is our house and that is.......,
(A) theirs (B) their
(C) them (D) their’s

78. The publisher is bringing........ a
revised edition of this book.

(A) round (B) out
(C) about (D) up

79. She had to.........illness in order to
avoid going to the part meeting.
(A) feint (B) feign
(C) faint (D) fain

Directions—(Q. 80 to 82) : In each
of the following questions, four
_alternatives are given for the Idiom/
Phrase printed in bold in the sentence.
Choose the alternative which best
expresses the meaning of the Idiom/
Phase as your answer.

80. I have taken fancy to his car
(A) given imaginative touches
(B) revised
(C) developed liking for
(D) improved

81. Carry out
(A) Bring (B) Continue
(C) Complete something
(D) To take in

82. He beats about the bush.

(A) talks sensibly

(B) talks continuously

(C) speak well

(D) does not talk specifically

Directions—(Q. 83 to 85) : In the
following questions, a part of the
sentence is bold. Below are given
alternatives to the bold part which may
improve the sentence. Choose the correct
alternative.

83. Covering thirty kilometres in thirty
minutes are not a great distance
using a brand new car.

(A) aren’t a great distance
(B) is no distance

(C) No improvement

(D) is not a great distance

84. Years ago, I met a man which was
President and Chairman of the
board of a company.

(A) whom
(B) No improvement
(C) who (D) whose

85. Where are you coming from ?
(A) No improvement
. (B) do you come from
(C) were you from
(D) you are coming from
Directions—(Q. 86 to 88) : In the
following questions, choose the word

- R okes —ry 1

86. Harmonious
(A) Sonorous (B) Discordant
(C) Concordant (D) Balanced

87. Fragile
(A) Weak (B) Brittle
(C) Strong (D) Discard
88. Superficial
(A) Genuine  (B) Natural

(C) Artificial (D) Amicable
Directions—(Q. 89 to 91) : In the
following questions, four words are
given in each question, out of which only
one word is correctly spelt. Find the
correctly spelt word as your answer,
89. (A) Juvinnile (B) Juvenille
(C) Juvenile (D) Juvinile
(A) Knowledgeable
(B) Knoledgeable
(C) Knowledgable
(D) Knowledgeble
91.  (A) Deterriorate (B) Deteriorrate
(C) Deteriorate (D) Detariorate
Directions—(Q. 92 to 94) : In the
following questions, out of the four
alternatives, choose the one which best
expresses the meaning of the given word.
92. Felicitated
(A) Admired
(C) Encouraged
(D) Congratulated

90#

(B) Adored

93. Honour

(A) Determination

(B) Courage

(C) Respect (D) Discipline
94. Rectify

(A) Clarify (B) Condone

(C) Correct (D) Regularise

Directions—(Q. 95 to 97) : In the
following questions, some parts of the
sentences have errors and some are
correct. Find out which part of a sentence
has an error. The number of that part is
the answer.
95. The kitchen need painting badly

and T must get it done.

(A) need painting badly

(B) The kitchen

(C) No error

(D) and I must get it done
96. IfIwill play my best I can win any

day against anybody.

(A) against anybody

(B) Ican win any day

(C) No error
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97. He finds fault at everything I do.
(A) No error
(B) at everything
(C) Ido
(D) He finds fault
Directions—(Q. 98 to 100) : In the
following questions, out of the four
alternatives, choose the one which can
b¢ substituted for the given words/
sentences.
#8. Putside by side-
(A) Juxtapose (B) Impose
(C) Propose (D) Depose
#2. One who can not be corrected—
(A) Ineligible (B) Indolent
(C) Indefatigable
(D) Incorrigible

EEEETEE |
1. f98 y&R 'wig’ ® fafagl s we
FE W R, I TR ‘TR’ B
el &t T=r %1 s €
2. UEHEE O W e € e e
QurERTEl, Sew anft 1 wuE g
T W TR W @ T= 8y §
Rre fafirr v & de-die, feat

T
3. ﬁmm,i)lM
D

X

M
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“8. Chief or Commander of army—
(A) Lieutenant (B) Major
(D) Colonel

(C) General

2.(C)
6. (C)
10. (D)
14. (B)
18. (B)
D) 22.(B)
C) 26.(A)
A) 30.(A)
D) 34.(B)
B) 38.(A)
42. (D)
46. (D)
50. (D)
54.(B)
58. (B)
62.(C)
66. (D)
70. (B)
74.(C)
78. (D)
82.(A)
86. (C)
%. (D)
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3.(C)

7.(A)
11.(C)
15. (D)
19. (D)
23.(B)
27. (B)
31.(C)
35. (B)
39. (A)
43. (D)
47. (B)
51.(D)
55. (B)
59. (C)
63. (A)
67. (A)
71. (D)
75. (C)
79. (A)
83. (C)
87. (A)
91.(D)
95. (D)
99. (A)

4, (A)
8.(B)
12. (D)
16. (A)
20.(C)
24. (A)
28.(O)
32.(D)
36. (A)
40. (D)
44. (D)
48. (B)
52.(B)
56. (B)
60. (A)
64, (C)
68. (C)
72. (D)
76. (C)
80. (D)
84. (C)
88. (B)
92. (C)
96. (A)
100. (A)
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77.(D)
81.(C)
55.(B)
3.0
3.(C)
§7.(B)

78. (B)
82. (D)
86. (B)
90. (C)
9. (C)
08. (A)

79. (B)
83. (D)
87.(C)
91 ()
95.(A)
99 (D)

10.

12,

14.

15,

Ak

o8 woR, (4x4)+3=19

I TR, (?x?)+3=

TRl e § ew i fauda w9 §
feran w1 # | STOVE = EVOTS
CANDLE = ELDNAC

I IFR,

REPORT = | TROPER |

He& 22 # Bl a9 §ft 3@
L e RAIEC IRERCE S f
et fowedl @1 @ w-

(A) U—2-3Q.(B) J—35G

€©) R—25N D) N—2)
TH. TH. TH. HiEEd i $ Ao
W S R | S A SR S
qeqq § 9SS R
YAIER, fog age w-

4846 =122+ 10 =7
= 7=48+6+12%x2=10
= 7=8+12x2=+10
= 7=20x2=+10=4
= 7=40+10=4
gﬁz‘: e % fEe § T T
)
TRl w1 WF HH FrerEq e
4. 7] - 1. T9F - 5. fen —
2. F99™ — 3. fa=mw |

™ faww 3 |1_3x-;-=95 LGIES

a |

;. U9 e =133 - 95 = 38
wift, awd E T W e € 1 9w,
mfwémﬁﬁwﬁm

' an

16.

17.

18.

20.

21

22,

23.

24.

27.

Eow

F= 02, 14,21, 33,40

I= 03, 10, 22, 34, 41

R = 57, 69, 76, 88, 95
E=01,13,20,32,44
#d: FIRE = 02, 03, 57, 01
HEAT- fEe i FwH Fraq -
0.15+0.15=0.30

030 +0.30 =

0.60 + 0.60 = 1.20

1.20 + 1.20 = 2.40
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ACEIEIBIEE:

4x2)-2=6
B3x2)-1=9

(1x2)-2=[12]

el e : (5x6)+4=34
TH FIeM : (5% 7)+2=30
e Hiem : (3x 8) + 2=30

= 2=30-24=[6]
rfaw Tfvr wemvE: 5% uft § foraat
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